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sample24.c

#include <stdio.h>

int mul(int x, int y){
return x * y;
}

void kuku_mul() {
inti, j;
for (i=1;i<=9;i++){
for (j = 1;j<=9; j++){
printf("%3d", mul(i, j));
}
printf("\n");
}
}

int main(){
kuku();
}

123 456789
2 4 6 81012141618
3 6 91215182124 27
4 8121620 24 28 32 36
5101520 25 30 3540 45
612 18 24 30 36 42 48 54
714 21 28 3542 49 56 63
81624 324048 56 64 72
918 27 36 45 54 63 72 81

ZN7OUSLICELE

(add(i,))TRZEMLIZLMGEE

STHIERLNAN?
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» void kuku_sum()BEEZEMMLA
EBTsum(x, y)EEEZETEUVOH T
IEHEz. BIVERZEMLIZLMES
EDGAREN?
= b [Zkuku_sub, kuku_divE{ES ?

int sum(int x, int y){
return x +vy;

}

void kuku_sum() {
inti, j;
for (i=1;i<=9; i++) {
for(j=1;j<=09;j++){
printf("%3d", sum(i, j));
}
printf("\n");
}
}

CCTIE BEBRA3ZAVWTRYRRMEDH 5
H#MzERIT 27T ETH

7




PR A > %

» BREDTRLRZREFT ST —FEOIEEZEHBRAUE2EES
BEHEZRLRTHRICAE) LICEMND, TD=ORARICHLTRLANER

ERAIAEY=EAN

y BEAE(AD)RAA

EHEDTELRAZRFL. BENICZOREBZETUHT

NA BB DT, BT DERXTRFLR

cf) int*p = MEMICEE~ANTIER

BEAE

int (*fp)(int, int);

fp: BAIRA 4

fplEintE! D5 $iZ2 DY . int2 %R~ DRI 42

= fplLintR D 512872 DY,

it RTEEDEABDTRLRAZRFTED
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sample25.c
#include <stdio.h> calc(10, 2) =12
calc(10,2)=8
int sum(int x, int y){ return x +; }
int sub(int x, int y){ return x - y; } e (123 ™
int mul(int x, int y){ return x *y; } :2: l’[]v_' {1,2,3%
int div(int x, int y){ return x/vy; } DV =pv;, IIov = &v
DEGEAA—D
int main() { -
intx=10,y = 2;
int (*calc)(int , int); « BHRIANDEE
calc = &um; calc: B sum~DEKARA 42
printf("calc(%d, %d) = %d\n", X, y, (*calc)(x, y)); > calc = sumTHA]
calc = &sub; < calc: EA#isub~DE#KR 124
printf("calc(%d, %d) = %d\n", X, y, (*calc)(x, v)); % calc = subTHa]
}




PARIRA > 7 g BT & HBHR

CEETIHEHMK A 2 ANBIEIZ LY ESES
y&t?‘ LEHEEETED
sample26.c
#include <stdio.h> calc(1, 1) = 2
int sum(int x, int y{ return x +vy; } g::gg :23; : g
int sub(int x, int y){ return x - y; } calc(1, 1) = 1
int mul(int x, int y){ return x * y; } calc(2, 2) = 4
int div(int x, int y){ return x/y; } calc(3, 3) = 9

int calc_upto3(int (*calc)(int, int)) {
int i;
for (| = 1, | <= 3’ i++){
printf("calc(%d, %d) =
}
}

int main() {

calc_upto3(&sum); // sum T+ a[ BE
calc_upto3(&mul); // mulTH A EE
}

%d\n", i, i, (*calc)(i,

)




PR A > 7 DR

EH#RDORSIBELTEETOEHEF )&BITH
‘ O—NILVEHELTEE T HEEEF A

void calc_upto10(int calc(int, int)) {
int i, result;
for (i =1;i<=10; i++) {
printf("calc(%d, %d) = %d\n", i, i, calc(i, i));
) A
}

BEDREMERLCELIICHFUVHE S, ERXAITgood !

SEE: int (* calc)(int, int)£ER T BIHE (E() [T HBETERL
int *calc (int, int) => int * (calc)(int, int) RSN S
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sample27.c
#include <stdio.h>
234
int sum(int x, inty){ return x +vy; } 3 4 5
int sub(int x, int y){ return x - y; } 45 6
int mul(int x, inty){ return x *y; } 1 2 3 4 5
int div(int x, inty){ return x/y; } 2 4 6 810
3 6 91215
int kuku(int nx, int ny, int calc(int, int)) { 4 81216 20
inti, j; 510152025

for (i=1; i <= nx; i++) {
for (j = 1; ) <=ny; j++){
printf("%3d", calc(i, )));
}
printf("\n");
}
}

int main() {
kuku(3, 3, sum);
kuku(5, 5, mul);

}




typedef (H$8)

» BEORCHLCREEE5258E

typedef <BE7FZl> <griREl>;

f5) typedef int NUMBER; typedef unsigned long size_t
y A)YblFRAPITS-BEESPISELE

A struct dataEPHEMLLN

struct data {
int key;
int val;

typedef struct _data data;

; &

typedef struct {
int key;
int val;

} data;

y A)yR2:O—KICELE42529  BEMZESTZTAONS
typedef int NUMBER; = typedef double NUMBER;




BEJ1: typedef EBHEHR A >4

sample28.c

#include <stdio.h>

typedef int (*Calc)(int, int);

int sum(int x, inty){ return x +y; }
int sub(int x, int y){ return x - y; }
int mul(int x, int y){ return x *y; }
int div(int x, int y){ return x / y; }

int main() {
intx=10,y = 2;
Calc calc; =

it D 518ZE2 DY . intE! %R

IR EIE T RA 2B ZCalct
EJ2AHIZDITS

calcl&
Nt D518 %2 DY, intd %R

=4[] int (*calc) (int, int)EELKHE

calc = sum;

: b (= ° 4o
printf("calc(%d, %d) = %d\n", x, y, calc(x, y)); TEAREIEITRAF
calc = sub;
printf("calc(%d, %d) = %d\n", x, y, calc(x, y)); | ALY

}
calc(10, 2

12
8

)
calc(10, 2)




BEF2: typedef EBHBUIR A > 7 DELH

sample29.c

#include <stdio.h>
typedef int (*Calc)(int, int);

int sum(int x, inty){ return x +y; }
int sub(int x, int y){ return x - y; }
int mul(int x, int y){ return x *y; }
int div(int x, int y){ return x / y; }

int main() {
int x =10, y=2;
Calc calc[] = {sum, sub, mul, div}; «

inti;

calcl&
intR D5 #ZE2 DY . intBl %R
IR EIE T RAADET

for (i = 0; i < 4; i++) {

printf("calc(%d, %d) = %d\n", x, y, calc[i](x,y)); 4 (Cak;'()' - sum
} calc[1] : sub
) -

calc[2] : mul

calc(10, 2) = 12 calc[3] : div
calc(10, 2) = 8 -
calc(10, 2) = 20
calc(10,2)=5




BEF3: (ntM5|EZ2DHY) intZiXI3 B
BURA 27 ORI 2R TRITOE %

sample30.c

#include <stdio.h>

typedef int (*Calc)(int, int);
typedef Calc T[]; <

int sum(int x, int y){ return x +y; }
int sub(int x, int y){ return x - y; }
int mul(int x, int y){ return x * y; }
int div(int x, int y){ return x/ y; }

int main() {
intx =10, y=2;
T calc = {sum, sub, mul, div}; «

int i
for (i=0; i <4;i++) {
printf("calc(%d, %d) = %d\n", X, y, calc[i](x,y));
}
}

TILint2& D51 #ZE2DHY) ., int
BERIT BRI RA3
DECHIZEFRT E

calc[|&IFE ML
KTEARNEIZEKT D
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» NANGEROESR
1)

gsort(void *base, size _t num, size t size,
int (fcompar)(const void *a, const void *b));

BEEURA 22 comparlXELFbase F D2 DD T—2ND K/INLERZ 1T SBE S
~NDRAA

a7 EEDE. ELLTHERN=0, bAE>IEDIE

» HoMLHBRLI-EEDREREFLHTRET
1)

int atexit(void (*func)(void));

EEBARA U Zfunc BT EAKZEHRL. TOJVS LR TRICENLEFLED
TETTS
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7079 LAEITETORN

JOTSLNETEINSET
AINAS. T TS5 . E2T774)L
JOtwyY A UBA gL X ETER T HINE

=KE (SR EFF —HIEETORNE
BASEITEVNEXTHY . AR EEBEL T

Java, cii &

void main(){
inti=2;

gcc

7EUI)ERIERERE) —ROANE
O E1—ARIC2EMTHBELERRTHD
PEMEE (machine language) &, 28 (' 2R)L)
REL-LDTHS.
HMEE AFAEMR TES LSRR

FEEE
CPUN BB TEHEE
0, ChohHhINbinTDEFEY

matyk

intj=3;
=i

gcce -S

main:

i $t0, 2

i $t1, 3

add $t0, $t0, $1

u Fe ISR

| 011110110000010

000000101010110

010111100001101
000001000000101

TR




MIPST —F%7 7 F ¥

» Microprocessor without Interlocked Pipeline Stages

m1.s

.data

str:
.asciiz “HelloWorld¥n”
text

main: o e
i $vO. 4 e Hello World 704 5L

la $a0, str “HelloWorld” £LV5 XX

HZEHEIZRR
syscall

jr $ra




Hello World 70145 S5 L

e MIPSIE2DDET A MMBRES

L » F—aE T Ak

Str. L ” data LL'F
.asciiz "HelloWorld¥n = _Ran
text o
I $VO, 4 text LR
la $a0, str a7 5l
syscall
jr $ra




T—R3tT Ak

F— B A DR > EHOEER
l EITR(ICEDHLLELME
e .data L SAUL
r L ., T—RDHHEFT(FRL
.asciiz HeIIoV‘VorId¥n 2) 22 FED+S

IN)L X%ﬁlj\‘sciizz—ﬁb@b\t. ..

T—3NNXFEFIT

HAH_EEIETE

byte 72, 101, 108, 108 = --




TXA T X b

FERMETAVLORE T TARETASE

j 7075 L0ONEE LR

text (B RETARSUR A
main: ‘///
li @ LU RS $V0 (2 4 FHEA(SVO = 4)

la $a0, str - LU XA $a0 (2 str 248 A ($a0 = str)
syscall s VAT LO— )LEFEES
jr $ra s AU —F DT

A I)—F

*RIINIL



text
main:

i $v0, 4

la $a0, str

syscall

jr_$ra

y i LYURA, $E
load immediate
BIEEZL D RZIZKA
Bl 1i $v0, 4

»la LYRA, SN

load address

FNILDIETTRLREL D REIC
KA
5 : la $a0, str



FHITXALI RS

» LUORZ: CPUNBIZHFEELEZREITHAVETCERLEERF
» CPUIZL P RAIZRLTEHEZ TS

Name |Register number Usage
Szero 0 the constant value O
Sv0-Svil 2-3 values for results and expression evaluation
$al-$a3 4-7 arguments
St0-St7 8-15 temporaries
$s0-$s7 16-23 saved
St8-St9 24-25 more temporaries
Sgp 28 global pointer
Ssp 29 stack pointer
Sfp 30 frame pointer
Sra 31 return address




syscall fiy4y

text

main:
i $vO, 4
la $a0, str
syscall
jr_$ra

y ORTFTLO—)LERESR
OS MRt F B H—EX
A ALGE
—RBDYIIL—F>

» LV
LOZXBR $V0 ITH—ERBEBSEHRTE
i) $v0=4: XXFIIRT
LIRS $a0 FITEIHMEHKTE

syscall Ap R & E1T
(RYEABHNILL O RXA $v0 ITAS



syscall y—E A

H—E X = | 518 R B =S
($v0)
print_int 1 | $a0 (ZH) BHEZRT
print_string 4 | $a0(XFFDTFL X FH|ZF TR
A)
read_int 5 $vO0 (%) BHEZFAD
read_string 8 |%a0(/\yI7) X F |75 A D
$a1 (&)
sbrk 9 |$a0(AEYHAX) $VO(FZRLR) | AEUFEIYHT
exit 10 JRTSL8ET




syscall 5 H

» BEIEDODH A
5:128 H 5

» BEUED A S
$v0 ICATEMNAS

» XFADH S
SO0 ZHKASINT=XFIZERT

i $vO, 1
i $a0, 128
syscall

i $vO0, 5
syscall

i $vO0, 4
i $a0, str
syscall




SPIM
» MIPS>Sal—%

Windows, Mac OS X, Linux ki

» 1AL & FIBAE
EIRRL 1: FH70D Mac
App 74 ILFIZ QtSpim MA U Ak—)LEN TV
EIREE 2: B=E Windows PC

QtSpim_* Windows.zip 4 o> AO—k
QtSpim_9.1.7_Windows.zip 7% &
fi# B => setup.exe ZE1T

EAXMIZHETDMaczALD, BIRKR2E, RTHREZPYEWFERIT



QtSpim

File Simulator Registers

Text Segment

Da

nt Window Help

QtSpim

(0:20) A13:34 Q

4 4

FP Regs | Int Regs [16]

[
=
—

Int Regs [16]

Data Text J

Text

00

PC

EPC
Cause
BadVAddr
Status

0
0
0
0
3000££10

"

HI =

oo

ffffe28

0000000000000 0000O-000000

10008000
7ffffe20
0
]

main:
A

See the file README for a full copyright notice.
spim: (parser) Label is defined for the second time on line 8 of file /Users/shirahata/Documents/zea¥/alé"a°%¢§¢® /e ¢@x2©3-4'43 /2012/MIPS/m2.s

[00400000] 8£a40000
[00400004] 27250004
[00400008] 24260004
[0040000c] 00041080
[00400010] 00c23021
[00400014] 0c100009
[00400018] 00000000
[0040001c] 3402000a
[00400020] 0000000c
[00400024] 34020004
[00400028] 3c041001
[0040002c] 0000000c
[00400030] 03e00008
[00400034] 34020004
[00400038] 3c011001
[0040003c] 3424000c
[00400040] 0000000c
[00400044] 34020005
[00400048] 0000000c
[0040004c] 00422020
[00400050] 34020001
[00400054] 0000000c
[00400058] 34020004
[0040005¢c] 3c011001
[00400060] 34240010
[00400064] 0000000c
[00400068] 03e00008

[80000180] 0001d821
[80000184] 3c019000
[80000188] ac220200
[8000018c] 3c019000
80000190] ac240204
00194] 40126800

Lo

[800001c8] 00240821
[800001cc] 8c240180
[800001d0] 00000000
[800001d4] 0000000c
[800001d8] 34010018
[800001dc] 14320008

[800001e0] 00000000

1w $4, 0($29)
addiu $5, $29, 4
addiu $6, $5, 4

sll $2, 54, 2

addu $6, $6, $2

jal 0x00400024 [main]
nop

ori $2, 50, 10
syscall

ori $2, 50, 4

lui $4, 4097 [str)
syscall

jr $31

ori $2, 50, 4

lui $1, 4097 [AQ]
ori $4, $1, 12 [AQ)
syscall

ori $2, $0, 5
syscall

add 54, $2, s2

ori $2, 50, 1
syscall

ori $2, 50, 4

lui $1, 4097 [KL]
ori $4, $1, 16 [NL)
syscall

jr $31

addu $27, $0, $1
lui 51, -28672
sw $2, 512($1)
lui 51, -28672
sw 54, 516(51)
mfcO0 $26, $13
srl $4, $26, 2
andi $4, 54, 31
ori $2, $50, 4
lui $4, -28672 [_ml_)
syscall

$2, 50, 1

User Text Segment [00£00000]..[00£40000)

: addiu sal $§p 4 # argv
: addiu sa2 $al 4 # envp
: 811 $v0 sa0 2

: addu $a2 $az $voO

jal main

nop

1i $vo 10

syscall # syscall 10 (exit)
1i $vo, 4

11 $vo, 4

D e e

syscall
1i svo, 5
syscall

syscall
11 svo, 4
la $a0, NL

syscall

i‘ I ira

O O el
N NRomaWna -

Kernel Text Segment [80000000)..[80010000)

; 90: move $k1 sat # Save Sat

; 92: sw §v0 s1 # Not re-entrant and we can't trust $sp
; 93: sw $a0 s2 # But we need to use these registers

; 95: mfcO $kO $13 # Cause register

; 96: srl $a0 $k0 2 # Extract ExcCode Field

; 97: andi sa0 sa0 Oxif

; 101: 11 $v0 4 # syscall 4 (print_str)

; 102: la $a0 __mi

; 103: syscall

; 105: 11 $v0 1 # syscall 1 (print _int)

AFR TR

addu $1, $1, $4
1w $4, 384(51)
noj

P
syscall
ori $1, $0, 24

nop_

srl sa0 $k0 2 # Extract ExcCode Field
andi $a0 Sa0 Oxif

syscall

11 $v0 4 # syscall 4 (print str)

andi $a0 $k0 Ox3c

1w §a0 __excp(sal)

113: nop
114: syscall

; 116: bne $k0 0x18 ok pc # Bad PC exception requires specj
bne $1, $26, 32 [ok_pc-0x800001dc]

F 11?: nop

FnJ5.4
add $a0, $v0, $vO
1i $vo, 1

IS—HALE




Hello World (1/3)

»  HelloWorld 70459 S LEERK
J714)L4: hello.s

.data
str:
.asciiz “HelloWorld¥n”

text
main:
li $v0, 4
la $a0, str
syscall
jr $ra




Hello World (2/3)

» hello.s 7AY 5 LDFRHAH
LB 1R | [Load File] F7=I% [Reinitialize and Load File]

7055 L%EER
Load File | [Reinitialize and Load File
QtSpim File /4110/ Registers Text Segn

=z &

ED Ranc Int Renc [1A1

>=113

» hello.s MET

JOU 5 L% &xEBFETEITLTHS
[Run] RZ>




Hello World (3/3)

y TATSLEEBELIGE
[Reinitialize and Load File] = #JEAELTI 7ML =& A A H

[ Single Step

y TS LDRATYTEST g
18R OETTS I —
TOY S LDFEH A |

[Single Step] 7R 2> — [Single Step] RAZEHEYIRL V) VY

[00400024] 34020004 ori 52, 50, & ; 72
[00400028] 3c041001 1lui $4, 4097 [str) : 8:
N o I =L S .
—_ X = X [0040002c] 0000000 7
4 7 l/ 7#’(/"%.:27& [00400030] 03e00008 | Copy #BC 1o

ETPICELSEEWMIEZIEET S
EELEZWTOLETHEYY) VY — [Set Breakpoint]

Select All A

| Set Breakpoint I
Clear Breakpoint

» BIRDHNIL. EDMDRZL DEFZERE
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SEL (1/2)

» BLE or 5IEEZT57 VT ZERBE L
add Dest, Srcl, Src2
Dest = Srcl + Src2
{5) add $vO0, $vO0, $v
sub Dest, Srcl, Src2
Dest = Srcl — Src2
{5) sub $vO0, $v0, $v|




PR (2/2)

.data

text

main:
li $t0, £4iE1
li $t1, Z{E2
<F5tHEd&H >
i $v0, 1
move $a0, $t0 = w/:xsc $t0 DIEZES$a0(Z
syscall aE—
jr $ra




R

2

y BEDTEUIT)TATSLE
ETEE. T EDEOL

=127 0T LM

AL IE

m2.s

AQ:

NL:

main:

.data
.asciiz “A?”

.asciiz “"¥n”

text

i $vO0, 4
la $a0, AQ
syscall

i $v0, 5
syscall

add $a0, $v0, $v0
i $vO, 1
syscall

i $v0, 4
la $a0, NL
syscall

jr $ra




Vi VA NA=V A IN)
HX Lok (1/2)

» BEEROYINE THRITZANS
SPIM [T ITZERT S

1i Sv0, 5
syscall
y AAREFEL
# LIBEIXaAVNZIIGS move $al0, $vO
1i Svo, 1
syscall

# println “HelloWorld”

1i  $vo0, 4

la $al, str

syscall # print string




TRer7VT7OT I LD
B DM (2/2)

» TEHODAR—X[EELTHEL

HAHEOINTOTSLMNRDOTLES
MEBIZIBEYRAR—REZANDIDLELH D

.asciizl_|'HelloWorld¥n”

li[ 1v0, 4

y T—ADNENEEET—EETAIDRRIFEETES

main:

.data
text

li $t0, 4

A

main:

text

li $t0, 4




ikl
» K5/ 18(2) 23:59

» IREM: LT DI77( L= [EHELT=2D
;32 A2 M (pdf,plain txt,word’ Ay CTEHA])
REI2OETHER
RBEIDME
®RE . EME
T3 LY—R GREIDHTELY)




